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October 27, 1888

1. Find the {absolute) maximum and minimum
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Fixy = %5 + 3x% « 1, for x > -1, if they existi.
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2. We can seil 110,000 boxes of cereal at $1.50. For sach penny we raiss
the price we estimate that demand will drop by 500 boxes. what price

will maximize total revenue?
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3. Carefully sketch the graph of =~/ V%{;& }
x# ;
Give coordinates or equations {(and plot) of (if any) A Fy—r6 _ 5
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Vertical asymptotes: »¥= O 5
horizontal asymptotes: v =o Vo @xT-/d x
iocal maxima and minima: s <=4, %) Jid 2 _
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